



Initial Coefficients Estimates for Certain Generalized Class of Analytic Functions Involving Sigmoid Function

Hamzat Jamiu Olusegun^{1*} and Olayiwola Malik Adekunle²

¹Department of Pure and Applied Mathematics, Ladoke Akintola University of Technology, P.M.B. 4000, Ogbomoso, Oyo State, Nigeria.

²The Oke-Ogun Polytechnic, Saki, Oyo State, Nigeria.

Authors' contributions

This work was carried out in collaboration between both authors. Author HJO designed the study, performed the statistical analysis, wrote the protocol and wrote the first draft of the manuscript. Author OMA managed the analyses of the study. Authors HJO and OMA managed the literature searches. Both authors read and approved the final manuscript.

Article Information

DOI: 10.9734/ARJOM/2017/33819

Editor(s):

(1) Sheng Zhang, School of Mathematics and Physics, Bohai University, Jinzhou, China.

Reviewers:

(1) Abdullah Sonmezoglu, Bozok University, Turkey.

(2) Şahsene Altınkaya, Uludağ University, Turkey.

(3) Airault Hélène, Université de Picardie Jules Verne, France.

(4) Waqas Nazeer, University of Education, Pakistan.

Complete Peer review History: <http://www.sciedomains.org/review-history/20018>

Received: 30th April 2017

Accepted: 13th June 2017

Published: 12th July 2017

Original Research Article

Abstract

For function $F_{\alpha,n}(z)$ of Bazilevic type, initial coefficients $|a_{j+1}(\alpha)|$, $|a_{j+2}(\alpha)|$ and $|a_{j+3}(\alpha)|$ for certain generalized class of analytic functions involving logistic sigmoid function are obtained. Further, the Fekete-Szego functional $|a_{j+2}(\alpha) - \mu a_{j+1}^2(\alpha)|$ is also considered for functions belonging to the said class of analytic functions. Several other results follow as simple consequences.

Keywords: Analytic; starlike; convex; Bazilevic; sigmoid function.

*Corresponding author: E-mail: emmanther2012@gmail.com;

1 Introduction

The theory of analytic functions has wide application in many physical problems such as in heat conduction, electrostatic potential and so on. So also is the theory of special function such as sigmoid functions.

Conventionally, it is believed that activation function is an information process that is inspired by the way nervous system like brain, process information. In fact, it is composed of large number of highly interconnected processing element (neurons) working to solve a definite task. This function works in similar way the brain does. The most widely used sigmoid function is the logistic function which has a lower bound of zero (0) and upper bound of one (1).

Many sigmoid functions have power series expansion which alternate in sign while some have inverse with hypergeometric series expansion. They can be evaluated differently especially by truncated series expansion. The logistic sigmoid function is defined as

$$g(z) = \frac{1}{1 + e^{-z}} = \frac{1}{2} + \frac{1}{4}z - \frac{1}{48}z^3 + \frac{1}{480}z^5 \quad (1.1)$$

and has the following properties:

- (i) It outputs real number between 0 and 1
- (ii) It maps a very large input domain to a small range of outputs
- (iii) It never loses information because it is a one-to-one function
- (iv) It increases monotonically.

In view of the above properties sigmoid function is highly referred in geometric Function Theory (See [1]).

Let A denote the class of functions of the form

$$f(z) = z + \sum_{k=j+1}^{\infty} a_k z^k \quad z \in D \quad (1.2)$$

which are analytic in the open unit disk $D = \{z; |z| < 1\}$ and normalized by

$f(z) = f^1(0) - 1 = 0$. Also, let S denote the subclass of A that are normalized and univalent in D . Now, for function $f(z)$ of the form (1.2), one can write that

$$f(z)^\alpha = z^\alpha + \sum_{k=j+1}^{\infty} a_k(\alpha) z^{\alpha+k-1} \quad \alpha > 0, \quad z \in D \quad (1.3)$$

Using Salagean derivative operator [2], one can equally write that

$$D^n f(z)^\alpha = \alpha^n z^\alpha + \sum_{k=j+1}^{\infty} (\alpha + k - 1)^n a_k(\alpha) z^{\alpha+k-1} \quad \alpha > 0, \quad z \in D \quad (1.4)$$

In 1992, Abdulhalim [3] introduced a generalization of certain family of Bazilevic functions satisfying inequality

$$\Re \left\{ \frac{D^n f(z)^\alpha}{z^\alpha} \right\} > 0, \quad \alpha > 0, \quad z \in D. \tag{1.5}$$

where the parameter α and the operator D^n is the famous Sălăgean derivative operator [2] defined by $D^n f(z) = D(D^{n-1} f(z)) = z(D^{n-1} f(z))'$ are defined as earlier. He denoted this class of functions by $B_n(\alpha)$. It is easily seen that his generalization has extraneously included analytic functions satisfying

$$\Re \left\{ \frac{f(z)^\alpha}{z^\alpha} \right\}, \quad z \in D \tag{1.6}$$

which largely non-univalent in the unit disk. By proving the inclusion

$$B_{n+1}(\alpha) \subset B_n(\alpha). \tag{1.7}$$

In 1994, Opoola [4] further studied a more generalized form of (1.5) and denoted it by $T_n^\alpha(\gamma)$ (Bazilevic class of order gamma) such that

$$\left\{ \frac{D^n f(z)^\alpha}{z^\alpha} \right\} > \gamma, \quad \alpha > 0, \quad z \in D. \tag{1.8}$$

Recently, a little modification was made to (1.8) such that

$$\Re \left\{ \frac{D^n f(z)^\alpha}{\alpha^n z^\alpha} \right\} > \beta \quad \alpha > 0, \quad z \in D .$$

For the purpose of the present investigation, let $F_{\alpha,n}(z) \in T_n^\alpha$ be defined as follows

$$F_{\alpha,n}(z) = z \left(1 + \sum_{k=j+1}^{\infty} \alpha_{n,k} a_k(\alpha) z^{k-1} \right), \quad j \in N \tag{1.9}$$

where

$$\alpha_{n,k} = \left(\frac{\alpha + k - 1}{\alpha} \right)^n. \tag{1.10}$$

Using (1.9), we give the following definition.

Definition:

Let $F_{\alpha,n}(z) \in S_{\delta,\gamma}^{\alpha,n}(\beta, \theta, \lambda, j)$ then,

$$\Re e \left\{ (1 + \delta^2) \left(\frac{e^{i\theta} z (F'_{\alpha,n}(z))^\lambda + (2\delta^2 - \delta) z^2 [(F'_{\alpha,n}(z))^\lambda]'}{4(\delta - \delta^2)z + (2\delta^2 - \delta)zF'_{\alpha,n}(z) + (2\delta^2 - 3\delta + 1)F_{\alpha,n}(z)} - \gamma \right) \right\} > \beta \left| (1 + \delta^2) \left(\frac{e^{i\theta} z (F'_{\alpha,n}(z))^\lambda + (2\delta^2 - \delta) z [(F'_{\alpha,n}(z))^\lambda]'}{4(\delta - \delta^2)z + (2\delta^2 - \delta)zF'_{\alpha,n}(z) + (2\delta^2 - 3\delta + 1)F_{\alpha,n}(z)} - 1 \right) \right| \tag{1.11}$$

for $\alpha > 0, \beta \geq 0, 0 \leq \delta \leq 1, \lambda \geq 1, -1 \leq \gamma < 1, n \in N_0 = N \cup \{0\}, n \geq j$ and $0 \leq \theta < \frac{\pi}{2}$.

It is observed that $TS_{\delta,\gamma}^{\alpha,n}(\lambda, \theta, \alpha, j) = S_{\delta,\gamma}^{\alpha,n}(\lambda, \theta, \alpha, j) \cap T$, where T is the subclass of S consisting of functions of the form

$$F_{\alpha,n}(z) = z - \sum_{k=j+1}^{\infty} a_k z^k, \quad a_k > 0 \quad \forall j+1. \tag{1.12}$$

With various choices of parameters involved, several subclasses of analytic functions (known and new) are obtained. Few of them are given below:

1. Let $F_{\alpha,n}(z) \in S_{0,\gamma}^{1,0}(\beta, \theta, \lambda, j)$. Then,

$$\Re e \left\{ \left(\frac{e^{i\theta} z (F'_{1,0}(z))^\lambda}{F_{1,0}(z)} - \gamma \right) \right\} > \beta \left| \left(\frac{e^{i\theta} z (F'_{1,0}(z))^\lambda}{F_{1,0}(z)} - 1 \right) \right|$$

which is the λ -pseudo-spiralike class of order γ .

2. Let $F_{\alpha,n}(z) \in S_{0,\gamma}^{1,0}(\beta, 0, \lambda, j)$. Then,

$$\Re e \left\{ \left(\frac{z (F'_{1,0}(z))^\lambda}{F_{1,0}(z)} - \gamma \right) \right\} > \beta \left| \left(\frac{z (F'_{1,0}(z))^\lambda}{F_{1,0}(z)} - 1 \right) \right|$$

which is the λ -pseudo-starlike class of order γ .

3. Let $F_{\alpha,n}(z) \in S_{0,\gamma}^{1,0}(\beta, 0, 1, j)$. Then,

$$\Re e \left\{ \left(\frac{z (F'_{1,0}(z))}{F_{1,0}(z)} - \gamma \right) \right\} > \beta \left| \left(\frac{z (F'_{1,0}(z))}{F_{1,0}(z)} - 1 \right) \right|$$

which is the starlike class of order γ .

4. Let $F_{\alpha,n}(z) \in S_{1,\gamma}^{1,0}(0,0,1,j)$. Then,

$$\Re e \left\{ \left(1 + \frac{z \left[(F'_{1,0}(z))^j \right]}{F'_{1,0}(z)} - \gamma \right) \right\} > 0$$

which is the *convex class of order γ* .

5. Let $F_{\alpha,n}(z) \in S_{0,\gamma}^{1,0}(\beta, \theta, 2, j)$. Then,

$$\Re e \left\{ \left(F'_{1,0}(z) \cdot \frac{e^{i\theta} z (F'_{1,0}(z))}{F_{1,0}(z)} - \gamma \right) \right\} > \beta \left| \left(F'_{1,0}(z) \cdot \frac{e^{i\theta} z (F'_{1,0}(z))}{F_{1,0}(z)} - 1 \right) \right|$$

which is the product of a combination of geometric expression for *bounded turning function and spirallike class of order γ* .

6. Let $F_{\alpha,n}(z) \in S_{0,\gamma}^{1,0}(\beta, 0, 2, j)$. Then,

$$\Re e \left\{ \left(F'_{\alpha,n}(z) \cdot \frac{z (F'_{1,0}(z))}{F_{1,0}(z)} - \gamma \right) \right\} > \beta \left| \left(F'_{\alpha,n}(z) \cdot \frac{z (F'_{1,0}(z))}{F_{1,0}(z)} - 1 \right) \right|$$

which is the product of a combination of geometric expression for *bounded turning function and starlike class of order γ* .

Remark A:

By careful selection of the values for the parameters involves several interesting subclasses known and new are obtained (see [5,6,7,8,9,10,11,12,13]).

The primary aim of the present paper is to investigate the relationship between sigmoid function and certain generalized class of analytic functions in terms of coefficients bounds. The paper further examines the Fekete-Szego problem involving this generalized class and sigmoid function.

2 Main Results

Lemma (2.1) Let g be sigmoid function of the form (1.1). Then, let $\phi(z) = 2g(z)$ such that

$$\phi(z) = 1 + \sum_{k=1}^{\infty} \frac{(-1)^k}{2^k} \left(\sum_{m=1}^{\infty} \frac{(-1)^m}{m!} z^m \right)^k. \tag{2.1}$$

Then $\phi(z) \in P$, $|z| < 1$ where P is the class of Caratheodory functions and $\phi(z)$ denotes the celebrated sigmoid function (see [14]).

Lemma (2.2) Let

$$\phi(z) = 1 + \sum_{k=1}^{\infty} \frac{(-1)^k}{2^k} \left(\sum_{m=1}^{\infty} \frac{(-1)^m}{m!} z^m \right)^k \tag{2.2}$$

Then, $|\phi(z)| < 2$ (see [14]).

Lemma (2.3) Let $\phi(z) \in P$ and is starlike, then it is a normalized univalent function of the form (1.2) (see [1]).

Remark B:

Suppose that $k = 1$ and also let $\phi(z) = 1 + \sum_{m=1}^{\infty} C_m z^m$

where $C_m = \frac{(-1)^{m+1}}{2m!}$, then $|C_m| \leq 2, \quad m = 1, 2, \dots$

This result is the best possible (see [14]).

Theorem (2.4): Let $F_{\alpha,n}(z) \in S_{\delta,\gamma}^{\alpha,n}(\phi, \beta, \theta, \lambda, j)$. Then,

$$|a_{j+1}(\alpha)| \leq \frac{(1 + \delta^2)\psi}{2M_1\alpha_{n,j+1}} \tag{2.3}$$

for $\alpha > 0, \lambda \geq 1, \beta \geq 0, 0 \leq \delta < 1, n \in N_0, n \geq j, 0 \leq \theta < \frac{\pi}{2}$, where $\alpha_{n,j+1} = \left(\frac{\alpha + j}{\alpha}\right)^n$,

$M_1 = \lambda(j+1)(e^{i\theta} + j(2\delta^2 - \delta)) - e^{i\theta}(1 - \beta)((j+1)(2\delta^2 - \delta) + 2\delta^2 - 3\delta + 1)$ and

$\psi = (e^{i\theta}(1 - \beta) + (\beta - \gamma)(1 + \delta^2))$.

$$|a_{j+2}(\alpha)| \leq \frac{(1 + \delta^2)\psi^2 \left\{ 2((j+1)(2\delta^2 - \delta) + 2\delta^2 - 3\delta + 1)M_1 \right.}{8M_1^2 M_2 \alpha_{n,j+2} \left. \left\{ -(1 + \delta^2)^2(1 - \beta)(e^{i\theta} + (j+1)(2\delta^2 - \delta))\lambda(\lambda - 1)(j+1)^2 \right\} \right\}} \tag{2.4}$$

where

$M_2 = \lambda(j+2)(1 + \delta^2)(1 - \beta)(e^{i\theta} + (j+1)(2\delta^2 - \delta)) - e^{i\theta}(1 - \beta)((j+2)(2\delta^2 - \delta) + 2\delta^2 - 3\delta + 1)$,

$\alpha_{n,j+2} = \left(\frac{\alpha + j + 1}{\alpha}\right)^n$, ψ and M_1 , are as earlier defined.

$$|a_{j+3}(\alpha)| \leq \frac{(1+\delta^2)\psi}{24M_3\alpha_{n,j+3}} + \frac{(1+\delta^2)\psi^3}{48M_1^3M_2M_3\alpha_{n,j+3}} \left\{ \begin{array}{l} \left(\begin{array}{l} 3M_1[(j+2)(2\delta^2-\delta)+2\delta^2-3\delta+1] \\ -3(\lambda^2\lambda)(j+1)(j+2) \end{array} \right) \\ \left(\begin{array}{l} 2M_1[(j+1)(2\delta^2-\delta)+2\delta^2-3\delta+1] \\ -(1+\delta^2)^2(1+j)^2(1-\beta)(\lambda^2-\lambda) \\ [e^{i\theta}+(j+1)(2\delta^2-\delta)] \end{array} \right) \\ -M_2(1+\delta^2)(j+1)^3(\lambda^3-3\lambda^2+2\lambda) \end{array} \right\} \quad (2.5)$$

where

$$M_3 = \lambda(j+3)(1+\delta^2)(1-\beta)[e^{i\theta}+(j+2)(2\delta^2-\delta)] - e^{i\theta}(1-\beta)[(j+3)(2\delta^2-\delta)+2\delta^2-3\delta+1],$$

$$\alpha_{n,j+3} = \left(\frac{\alpha+j+2}{\alpha}\right)^n \text{ and } \psi, M_1, M_2 \text{ are as earlier defined.}$$

Proof: Let $F_{\alpha,n}(z) \in S_{\delta,\gamma}^{\alpha,n}(\beta, \theta, \lambda, j)$. Then, by definition there exists $\phi(z) \in P$ such that

$$\frac{(1+\delta^2)(1-\beta) \left\{ e^{i\theta} z (F'_{\alpha,n}(z))^\lambda + (2\delta^2-\delta) z^2 [(F'_{\alpha,n}(z))^\lambda] \right\}}{4(\delta-\delta^2)z + (2\delta^2-\delta)zF'_{\alpha,n}(z) + (2\delta^2-3\delta+1)F'_{\alpha,n}(z)} - (1+\delta^2)(\gamma-\beta) \frac{1}{[e^{i\theta}(1-\beta) + (\beta-\delta)(1+\delta^2)]} = \phi(z) \quad (2.6)$$

$$\begin{aligned} & (1+\delta^2)(1-\beta) \left\{ e^{i\theta} z (F'_{\alpha,n}(z))^\lambda + (2\delta^2-\delta) z^2 [(F'_{\alpha,n}(z))^\lambda] \right\} \\ &= \left(\frac{4(\delta-\delta^2)z + (2\delta^2-\delta)zF'_{\alpha,n}(z)}{(2\delta^2-3\delta+1)F'_{\alpha,n}(z)} \right) \left((1+\delta^2)(\gamma-\beta) + \phi(z) \frac{[e^{i\theta}(1-\beta) + (\beta-\delta)(1+\delta^2)]}{1} \right) \end{aligned} \quad (2.7)$$

where the function $\phi(z)$ is the modified sigmoid function given by

$$\phi(z) = 1 + \frac{1}{2}z^j - \frac{1}{24}z^{j+2} + \frac{1}{240}z^{j+4} - \frac{1}{64}z^{j+5} + \frac{779}{20160}z^{j+6} - \dots \quad (2.8)$$

Equating the coefficients of the like powers of z^j, z^{j+1}, z^{j+2} and z^{j+3} in the series expansion of (2.7), then

$$\left\{ \begin{array}{l} (1+\delta^2)(1-\beta)[e^{i\theta} + j\lambda(2\delta^2-\delta)(j+1)] \\ -e^{i\theta}(1-\beta)[(j+1)(2\delta^2-\delta)+2\delta^2-3\delta+1] \end{array} \right\} \alpha_{n,j+1} a_{j+1}(\alpha) = \frac{1}{2}(1+\delta^2) \frac{[e^{i\theta}(1-\beta) + (\beta-\gamma)(1+\delta^2)]}{1} \quad (2.9)$$

$$\left\{ \begin{array}{l} \lambda(1+\delta^2)(1-\beta)(j+2)[e^{i\theta} + (j+1)(2\delta^2 - \delta)] \\ -e^{i\theta}(1-\beta) \left[\begin{array}{l} (j+2)(2\delta^2 - \delta) \\ + 2\delta^2 - 3\delta + 1 \end{array} \right] \end{array} \right\} \alpha_{n,j+2} a_{n,j+2}(\alpha)$$

$$= \frac{1}{2} [e^{i\theta}(1-\beta) + (\beta-\delta)(1+\delta^2)] \left[\begin{array}{l} (j+1)(2\delta^2 - \delta) \\ + 2\delta^2 - 3\delta + 1 \end{array} \right] \alpha_{n,j+1} a_{n,j+1}(\alpha) \tag{2.10}$$

$$- (1+\delta^2)(1-\beta)(j+1)^2 \frac{\lambda(\lambda-1)}{2} [e^{i\theta} + (j+1)(2\delta^2 - \delta)] \alpha_{n,j+1}^2 a_{j+1}^2(\alpha)$$

$$\left\{ \begin{array}{l} \lambda(j+3)(1+\delta^2)(1-\beta)[e^{i\theta} + (j+2)(2\delta^2 - \delta)] \\ -e^{i\theta}(1-\beta) \left[\begin{array}{l} (j+3) \left(\begin{array}{l} 2\delta^2 - \delta \\ + 2\delta^2 - 3\delta + 1 \end{array} \right) \end{array} \right] \end{array} \right\} \alpha_{n,j+3} a_{n,j+3}(\alpha)$$

$$= \frac{1}{2} [e^{i\theta}(1-\beta) + (\beta-\gamma)(1+\delta^2)] [(j+2)(2\delta^2 - \delta) + 2\delta^2 - 3\delta + 1] \alpha_{n,j+2} a_{j+2}(\alpha) \tag{2.11}$$

$$- \frac{1}{24} (1+\delta^2) [e^{i\theta}(1-\beta) + (\beta-\gamma)(j+\delta^2)] - \frac{\lambda(\lambda-1)(\lambda-2)}{6} (j+1)^3 \alpha_{n,j+1}^3 a_{j+1}^3(\alpha)$$

$$- \lambda(\lambda-1)(j+1)(j+2) \alpha_{n,j+1} \alpha_{n,j+2} a_{j+1}(\alpha) a_{j+2}(\alpha)$$

Thus, the inequalities (2.3), (2.4) and (2.5) follow respectively, from (2.9), (2.10) and (2.11) and this completes the proof of theorem (2.4).

Corollary 2.5: Let $F_{\alpha,n}(z) \in S_{0,\gamma}^{1,0}(\phi, 0, \theta, \lambda, j)$. Then,

$$|a_{j+1}| \leq \frac{e^{i\theta} - \gamma}{2e^{i\theta}[(\lambda(j+1)-1)]}, \quad |a_{j+2}| \leq \frac{(e^{i\theta} - \gamma)^2 (2[\lambda(j+1)-1] - (\lambda^2 - \lambda)(j+1)^2)}{8[e^{i\theta}(\lambda(j+1)-1)]^2 [(\lambda(j+2)-1)]},$$

and

$$|a_{j+3}| \leq \frac{(e^{i\theta} - \gamma)}{24[e^{i\theta}(\lambda(j+3)-1)]} + \frac{(e^{i\theta} - \gamma)^3 \left\{ \begin{array}{l} (3e^{i\theta}[\lambda(j+1)-1] - (j+1)(j+2)(\lambda^2 - \lambda)) \\ (2[\lambda(j+1)-1] - (j+1)^2(\lambda^2 - \lambda)) \\ -(j+1)^3[\lambda(j+2)-1][\lambda^3 - 3\lambda^2 + 2\lambda] \end{array} \right\}}{48[e^{i\theta}(\lambda(j+1)-1)]^3 [e^{i\theta}(\lambda(j+2)-1)][(\lambda(j+3)-1)]}.$$

Corollary 2.6: Let $F_{\alpha,n}(z) \in S_{0,\gamma}^{1,0}(\phi, 0, 0, \lambda, j)$. Then,

$$|a_{j+1}| \leq \frac{1-\gamma}{2[(\lambda(j+1)-1)]}, \quad |a_{j+2}| \leq \frac{(1-\gamma)^2 (2[\lambda(j+1)-1] - (\lambda^2 - \lambda)(j+1)^2)}{8[(\lambda(j+1)-1)]^2 [(\lambda(j+2)-1)]},$$

and

$$|a_{j+3}| \leq \frac{(1-\gamma)}{24[(\lambda(j+3)-1)]} + \frac{(1-\gamma)^3 \left\{ \begin{array}{l} (3[\lambda(j+1)-1] - (j+1)(j+2)(\lambda^2 - \lambda)) \\ (2[\lambda(j+1)-1] - (j+1)^2(\lambda^2 - \lambda)) \\ -(j+1)^3[\lambda(j+2)-1][\lambda^3 - 3\lambda^2 + 2\lambda] \end{array} \right\}}{48[(\lambda(j+1)-1)]^3 [(\lambda(j+2)-1)][(\lambda(j+3)-1)]}.$$

Corollary 2.7: Let $F_{\alpha,n}(z) \in S_{0,\gamma}^{1,0}(\phi, 0, 0, \lambda, 1)$. Then,

$$|a_2| \leq \frac{1-\gamma}{2(2\lambda-1)}, \quad |a_3| \leq \frac{(1-\gamma)^2(4\lambda-2\lambda^2-1)}{4(2\lambda-1)^2(3\lambda-1)},$$

and

$$|a_4| \leq \frac{(1-\gamma)}{24(4\lambda-1)} + \frac{(1-\gamma)^3(24\lambda^4 - 80\lambda^3 + 84\lambda^2 - 28\lambda + 3)}{24(2\lambda-1)^3(3\lambda-1)(4\lambda-1)}.$$

Incidentally, this result in (2.7) coincides with that of Murugusundaramoorthy and Janani [9].

Corollary 2.8: Let $F_{\alpha,n}(z) \in S_{0,\gamma}^{1,0}(\phi, 0, 0, 1, 1)$. Then,

$$|a_2| \leq \frac{1-\gamma}{2}, \quad |a_3| \leq \frac{(1-\gamma)^2}{8}, \quad |a_4| \leq \frac{1-\gamma}{72} + \frac{(1-\gamma)^3}{48}$$

Corollary 2.9: Let $F_{\alpha,n}(z) \in S_{0,0}^{1,0}(\phi, 0, 0, 1, 1)$. Then,

$$|a_2| \leq \frac{1}{2}, \quad |a_3| \leq \frac{1}{8}, \quad |a_4| \leq \frac{5}{144}.$$

Corollary 2.10: Let $F_{\alpha,n}(z) \in S_{0,0}^{1,0}(\phi, 0, 0, 2, 1)$. Then,

$$|a_2| \leq \frac{1}{6}, \quad |a_3| \leq \frac{1}{180}, \quad |a_4| \leq \frac{1}{840}.$$

Theorem (2.11): Let $F_{\alpha,n}(z) \in S_{\delta,\gamma}^{\alpha,n}(\phi, \beta, \theta, \lambda, j)$. Then,

$$|a_{j+2}(\alpha) - \mu a_{j+1}^2(\alpha)| \leq \frac{(1+\delta^2)\psi}{8M_1^2 M_2 \alpha_{n,j+1}^2 \alpha_{n,j+2}} \left| \begin{array}{l} \left(\begin{array}{l} 2((j+1)(2\delta^2 - \delta) + 2\delta^2 - 3\delta + 1)M_1 \\ -\lambda(\lambda-1)(j+1)^2(1+\delta^2)^2(1-\beta) \\ (e^{i\theta} + (j+1)(2\delta^2 - \delta)) \end{array} \right) \alpha_{n,j+1}^2 \\ -2\mu M_2 \alpha_{n,j+2} \end{array} \right| \quad (2.12)$$

for $\alpha > 0, \lambda \geq 1, \beta \geq 0, 0 \leq \delta < 1, n \in N_0, n \geq j, 0 \leq \theta < \frac{\pi}{2}$, where $\alpha_{n,j+1}, \psi, M_1$ and M_2 , are as earlier defined.

Proof: Using (2.9) and (2.10), the result is immediate.

Corollary (2.12): Let $F_{\alpha,n}(z) \in S_{0,\gamma}^{1,0}(\phi, 0, \theta, \lambda, j)$. Then,

$$\left| a_{j+2}(\alpha) - \mu a_{j+1}^2(\alpha) \right| \leq \frac{(e^{i\theta} - \gamma)^2 \left| \left(2[\lambda(j+1) - 1] - (j+1)^2(\lambda^2 - \lambda) \right) - 2\mu[\lambda(j+2) - 1] \right|}{8e^{i2\theta} [\lambda(j+1) - 1]^2 [\lambda(j+2) - 1]}$$

Corollary (2.12): Let $F_{\alpha,n}(z) \in S_{0,\gamma}^{1,0}(\phi, 0, 0, \lambda, 1)$. Then,

$$\left| a_3 - \mu a_2^2 \right| \leq \frac{(1-\gamma)^2}{4(2\lambda-1)^2} \left| \frac{4\lambda - 2\lambda^2 - 1}{3\lambda - 1} - \mu \right|$$

Incidentally, this result in (2.12) coincides with that of Murugusundaramoorthy and Janani [9].

Corollary (2.13): Let $F_{\alpha,n}(z) \in S_{0,0}^{1,0}(\phi, 0, 0, 1, 1)$. Then,

$$\left| a_3 - \mu a_2^2 \right| \leq \frac{1}{8} |1 - 2\mu|.$$

If $\mu = 1$ in corollary 2.13 above, then

$$\left| a_3 - \mu a_2^2 \right| \leq \frac{1}{8}.$$

Acknowledgement

The authors wish to acknowledge and thank both the reviewers and editors for job well-done reviewing this article.

Competing Interests

Authors have declared that no competing interests exist.

References

- [1] Oladipo AT, Gbolagade AM. Subordination results for logistic sigmoid function in the space of univalent functions in the unit disk. Adv. Comp. sci. Eng. 2014;12(2):61-79.
- [2] Sălăgean GS. Subclasses of univalent functions. Complex analysis fifth Romanian-finish seminar, of Lecture Notes in Mathematics. Springer, New York, NY, USA. 1983;1013:362-372.

- [3] Abdulhalim S. On a class of analytic function involving the Sălăgean differential operator. *Tamkang Journal of Mathematics*. 1992;23(1):51-58.
- [4] Opoola TO. On a new subclass of univalent functions. *Mathematica*. 1994;36(2):195-200.
- [5] Al-Amiri HS. On a subclass of close-to-convex functions with negative coefficients. *Mathematics Tome*. 1989;31(1)54:1-7.
- [6] Babalola KO. On λ -pseudo-starlike functions. *Journal of Classic Analysis*. 2013;3(2):137-147.
- [7] Frasin BA. On the analytic functions with negative coefficients. *Soochow J. Math*. 2005;31(3):349-359.
- [8] Magesh N, Prameela V. Certain subclasses uniformly convex functions and corresponding class of starlike functions. *Malaya J. Matematik*. 2013;1:18-26.
- [9] Murusundaramoorthy G, Janani T. Sigmoid function in the space of univalent lambda-pseudo-starlike functions. *Int. J. Pure and Applied Math*. 2015;101:33-41.
- [10] Rosy T. Study on subclasses of univalent functions, Thesis, University of Madras; 2002.
- [11] Silverman H. Univalent functions with negative coefficient. *Proc. Amer. Math. Soc*. 1975;51:109-116.
- [12] Srivastava H, Owa S, Chatterjea SK. A note on certain class of starlike functions. *Rend. Sem. Mat. Univ. Padova*. 1987;77:115-124.
- [13] Subramanian KG, Sudharsan TV, Balasubrahmanyam P, Silverman H. Class of uniformly starlike functions. *Publ. Math. Debercen*. 1998;53(4):309-315.
- [14] Fadipe-Joseph OA, Oladipo AT, Ezeafulukwe UA, Modified sigmoid function in univalent function theory. *International Journal of Mathematical Sciences and Engineering Application*. 2013;7:313-317.

© 2017 Olusegun and Adekunle; This is an Open Access article distributed under the terms of the Creative Commons Attribution License (<http://creativecommons.org/licenses/by/4.0>), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Peer-review history:

The peer review history for this paper can be accessed here (Please copy paste the total link in your browser address bar)

<http://sciencedomain.org/review-history/20018>